MODEL QUESTION 16

1. Fill in the blanks with the words from the box. Make any change if necessary.
prevention disease | that free low cured rich affect say

Arsenicosis is one of the major problems a)__ Bangladesh is facing. Like many other b)___, arsenicosis can
be c)__ .Itissaid thatd)___is better than cure. So people must drink watere)___ form arsenic to prevent
this disease. Besides, from an observation it has been f)___ that people eating a balance diet whichisg)___
in food value are not h)___ by arsenicosis. So, the number of patients i)__ from arsenic poisoning is

comparatively j)___.
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2. Fill in the blanks with suitable words.

Afforestation means planting or preserving trees. It is quite (a) —to deforestation. Trees plants are a part
and parcel of our (b) —. Ecology (c) — depends on them. The country will (d) — into a great desert (e)—
there are no trees. Trees help to protect the soil (f) — erosion. Flood cannot affect those areas (g) — with
trees. Storm cannot apply (h) — force to the places (i) — there are trees. So, we should use our (j) — land
for the benefit of our life.
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b f j
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3. Make five sentences using parts of sentences from each columnof the table below.
A B C

There was extremely his wish promptly .
The king granted fond of gold .
One day a wise God | was into gold as he touched it .
A ripe apple turned beside him as he was sleeping under an apple tree .
The apple fell a king named Midas .

4. Complete the following text with right form of the verbs given in the box.
prepare | gossip enter | appear sit | experience come | enjoy become seem

a full moonlit night. | (b)
into my room. | could not help (d)
my reading room and sat on the lawn. To me nature (f) in her magic beauty. Her objects(g)___ to
flash with heavenly radiance. | found a kind of harmony between the world and the heaven. People
(h) in the yard and (i) themselves (j)

Once | (a) lesson in my reading room. Suddenly | noticed that the

heavenly light of the moon (c)

surprised. | (e) out of
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5. Rewrite the following passage in the reported speech.
The teacher said to the boy, “Why did you make a noise in the class? You are not attentive to your lesson.”

“Sorry, sir” said the boy. “l was asking for a pen to my friend.” The teacher said, “Be attentive and listen to
me carefully.”

6. Change the sentences according to directions.

a. Bangladesh is one of the poorest countries in the world (Positive)

b. It is not possible for her to provide employment to this entire people. (Complex)

C. People can train themselves in different vocations. (Positive)

d. Bangladesh can engage her human resources in the other countries by training them on different

professions. (Compound)

e. In this way, she may earn a lot of foreign exchange. ((Interrogative)

f. It will make her one of the most solvent countries in the world. (Comparative)

g. Then, she will remain to the position that is different from the present state. (Simple)
h. Then, other nations will have to respect us. (Negative)

i Nothing but Bengali nation will be the leader of the world. (Affirmative)

j. We all shall be please with that condition of our dearest motherland. (active).
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7. Complete the following sentences.

(a) We learn English because

(b) Our students are afraid of English as

(c) Unless we learn English,

(d) Without learning English,

(e) Nero fiddles
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Those who are (@) ................ (industry) ........... can prosper in life. It means industry is the key to success. The
idle are always (b) ........... (successful) ............... Itisa sheer(c)...cccceune.n. (foolish) .......... to think that success
comes (d) .............. (automatic) ..ccoeveenreeriinnnns as it is given by the Almighty. But human history shows that
success comes to those who make efforts (e) ............... (relentless) .......... Passing time in (f) ............ (idle)
.......... brings about adversity in life. Whereas the industrious enjoy the harvest of (g) .......ccee...
(prosper)........... It is natural that some hindrances stand in the way of success. But the industrious can
remove the (h) .............. (hinder) ............ by dint of (i)........... (continue) hard work and (j) .......
(persevere)................

a e i

b f j

c g

d h
9. Make tag questions of these statements.
(a) We ought to love our motherland, __ .~~~ ?
(b) Yes, it isa part of our faith, ___ ?
(c) Certainly, itis. A man can’t be a patriot without showing love to hiscountryman, ___~~~ ?
(d) No, never. But today, most people prefer self-interest to patriotism, ?
(e) Yes, but they’re always hatedbyall, _ ~ ~  ?
10. Fill in the blanks with suitable linking words from the list.
Corruption has become a part and parcel of our life. (a) no office work is done without corruption,
people have it as an acceptable practice. (b) this evil practice should be stopped. (c) the
government is strict, it will not be possible. (d) some corrupt officials are punished, it has not been
evicted from government offices. (e) , it must be eradicated at any cost.

a C @

b d

11. Rewrite the following passage and punctuate where necessary.

rashed said to me have you finished the book i gave you yesterday yes i have finished reading the book i
replied what an interesting book it is i wish i would borrow the book earlier i said will you return the book to
me today he asked
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